0VOLY0 : "ON Buimeiq

UH8Y 919 17'2A LX3 YINVLIASVE A3 : MaIA papojdx3

J 10U

£z
& o5

/
&)

Z 10 | abed

dn LNIOd
1SNIN MOXAY

yL9/L - 9%ed
-y~ : UoISInRY




EXPLODED VIEW: EV BASETANK EXT D2.4L G16 48HR

DRAWING #:0K7040 GROUPC
ITEM PART# QTY. DESCRIPTION

1 0A1492 1 CAP

2 0K3362B 1 REED SWITCH LEAK DETECTOR 2 FT

3 0K5078 1 DECAL DATA DBL WALL PROTECTOR

4 028619 1 PLUG PIPE 2" SQ HD ZINC

5 022097 4 WASHER LOCK M6-1/4

6 0A8278 4 SCREW SHC 1/4-28 X 3/4 G8.8 NZ

7 0C6789 10 SCREW HHC M12-1.75 X 30 SS FT
(2)8 0K2687 1 DECAL EMERGENCY RELIEF VENTING
(1)9 0K70820STOR 1 COVER STUB-UP 48HR

10 0D2670A 1 FUEL FILL NECK,210MM LONG

11 067982 2 BARBED STR 3/8NPT X 5/16

12 072989J 2 VENT CAP EMERG 3"NPT

13 0C2454 4 SCREW HWHT M6-1 X 16 N WA Z/JS
(1)14 0K70810STOR 1 COVER FRONT BASETANK EXT 48HR

15 087171 20 WASHER FLAT 1/2 SS

16 0K5054 1 DECAL CANADA TANK WARNINGS

17 0K3363 1 GASKET LEAK DETECTOR

18 0F4795 5 SCREW PPHM M4-0.7 X 10 SEMS

19 083215 10 WASHER LOCK 1/2 SS
(2)20 0A1476 1 DECAL FUEL FILL

21 051548 10 NUT HEX M12-1.75 G8 SS

22 0K2774B 1 FUEL DIP PIPE 431MM

23 039253 6 SCREW HHC M8-1.25 X 20 C8.8

24 0K3604B 1 FUEL FILL DROP TUBE 2"NPT

25 0K3090 1 DECAL WARNING TANK

26 026925 2 PLUG STD PIPE 3/8 STEEL SQ HD

27 090608 1 NIPPLE PIPE 2NPT X 7 BLK IRON
(2)28 0A1478 1 DECAL FUEL RETURN

29 0H9028 1 DECAL LOW SULFUR FUEL
(1)30 0K70470STOR 1 WELDMENT TANK 48HR

31 0K5249 1 VALVE, CHECK 3/8 NPT F-F

32 0K3828A 1 SENDER FUEL LEVEL GAUGE, 2 FT

33 050190 6 WASHER FLAT .344ID X 1.00D
(2)34 0A1481 1 DECAL LEAK DETECTOR
(2)35 021826 2 DECAL EMERGENCY VENT
(2)36 0A1479 1 DECAL VENT

37 021178 1 VENT OEM 2"

38 0K5059 1 DECAL CANADA OPERATNG PRESSURE
(2)39 0A1477 1 DECAL FUEL SUPPLY
(2)40 0A1546 1 DECAL FUEL LEVEL

41 0K5072A 1 DECAL MAX WEIGHT 48HR

NOTES (UNLESS OTHERWISE SPECIFIED):
(1) SHEET METAL PARTS LISTED IN THE BOM TABLE ARE REPRESENTING GENERIC PARTS (NO COLOR)

* MANUFACTURING: FOR CORRECT MATERIAL AND COLOR REFER TO AS400 BOM.
* CUSTOMER: WHEN ORDERING REPLACEMENT PARTS ENTER BASE NUMBER (FIRST 6 DIGITS ONLY) IN THE SYSTEM FOR

CORRECT MATERIAL AND COLOR (FOR REFERENCE SEE GUIDELINE 0H7169).
(2) INCLUDED IN DECAL SET UL TANK 0K2681.

REVISION: -A- Page 2 of 2
DATE: 1/6/14



